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H->yy with CEPCv4 with SCECAL




SSA (Strip-Splitting Algorithm)
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CEPCV4 baseline
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S5mmx45mm SceECAL SSAv4
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Single photon correction
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H->yy correction

1800 2500 H‘
1600— -
1400 — 2000/~
1200(— _ ,
— | — before correction 1500 — before correction
1000 — B
gool | after correction s e
- 1000 —
600 — N
400 500—
200— B
D : | | | | | | | | | | | | | | | I | | | | | | I | | | | | D B | | | | | | | | | | 1 | 1 | | | | 1 | | | | 1 | | | | | |
0 20 40 60 80 100 120 140 160 0 20 40 60 80 100 120 140 160
Invariant Mass / GeV Invariant Mass / GeV

Barrel region Full region



Signal fit
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CO M b| Ne ﬂt W/O correction
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